Full Size C.O. Kit — Double Deck Electric w/Lo Profile Casters

P/N 1951227

Packed

Part No

Description

1824901

Decking Schematic DP

1824902

Decking Schematic Std

1007000

Instruction Bag

1816501

Stacking Bracket

8003404

Hex Head Bolt, 1/4-20x3/4

8000203

Lock Washer, 1/4 in.

8001206

Hex Nut, 1/4-20

1920099

Flue Tube

8002108

Sheet Metal Screw, #10 Phillips 3/4 in.

1926598

Lo Profile Caster — Non-Locking

1926599

Lo Profile Caster - Locking

8003415

Hex Head Bolt, 3/8-16x3/4

ES‘\NNA'—O\O\O\»—»—H—..—E

O|0|0|0|0|0|00|0|0|O|oa

8000310

Flat Washer, 3/8 in

Packed by:

1951227.doc




20p'sI9Ise)) YorIS

T~ "SINU pUE SISYSEM ‘SMIIOS PRy XY b4 FuIsn Jeal dy) 0} Joyoeiq Suryoels syl [eIsu] ‘9
Q *SISUI0D 3Y) USie pue Jun 1amof ay) Jo doj uo yun raddn oy yry ¢

N

ySudn 1 uIng Jo J1un Ay} IOMO  p
*JUOIJ 3} UT PI[[BISUI 29 0} SAYeIq
YIIM SI9)SEO OM] Y], “IB3I Y] Ul PI[[RISUI 9q 0} SONeIq JNOYIIM SI9ISED OM) YL, °¢
"SIgysem pue s3joq peay xay ,g/¢ ursn sajerd 19)ses oy [[ISU] T
*3PIS Y9 SIT UO UIN) IO UIAO IOMO] Y} astey [

*0M] 3} JO 19MO] Y} 99 JSAUT USAO MU I} ‘UIAO P[0 U PUE MU & Juryoels J|

8lA1S pIO 8lA1S maN
Jouaim e

ya Kppadord pausyy3n pue punoduiod peany) Suisn pajquissse d1e sJumyy [[e aInsup "Z| |[|l
"mou s3uy Funyorls sed o[quIasse ‘uone[[eISuI SBS B STSIYI T ‘T

"sma10s sdifryq Sursn yun 1addn ay) Jo 1ear oy 0 Jo3yorRIq SUIUTRISAI Y [[RISU ‘(] |
"smar0s sAIf[Iyd yam I9A09 Jear

9y} 0 UQJSB,] "JUIA USAO Y} 0} 3qn) I3sL1 anfj Yy} UFIy :uaA0 1addn UOISIOA JomaN ® 2
"UDAO U} JO IB3I Y} 0) JOA0D JATIRIOIIP Y} SUIP[OY SMAIOS OM])
U3 Sulsn USAO Sy} JO 1831 SY} 0} 9qN} ISSLI AN[J AY) UASe, :udA0 1addn UOISIOA IPIO  *6
"$ma108 SAI[[IYJ 0M] YIIm UISE "JUSA UIAO JIMO[ 3Y) 0} dqN] JISLI N[ Y} [[RISU] '8 "USAO UOISIIA JomMaU B 9ARY NOA
"OS[E J9A0D JUIA I2INO S PIEISIP PUE SAOWAI ‘UOISIOA TomMdU I9A0D JATIRIOOIP OU ST 213y} pue doj USAO Y] JO T8I Y} SIIXA JUAA QU) J[ "USAO UOISIDA
© ST U340 1oddn dyj § "PIBISIP PUB USAO JOMO] Y} WOIJ ISA0D JUIA ISJNO Y} SAOWSY  °/ I9pIO Ue ST J1 ‘)L PUNOIR I9A0D [33]S SSO[UIR)S 9ANRI0NIP € sey pue [oued doy sy ySnony

SIIX3 JUdA 93 J1 *do) usAo af) Jo Jeax JYSLI AY) JE JIX JUSA UIAO Y} 10adsut Afjensip
‘11 1003 [e10ads oY) yum paddiys syjoq jueysisar rodwe) | v 9yl yim s3joq peay .

XaY % Jewriou Y3 20e[dar AJIIoR] [BUOI}OALIOD B UT SHUN 983U} JUI[[RISUL 918 NOK J 910N *3A1IRIUasaIdar sofes oA 10BIUOD INSUN 9Ie NOA JT *dAeY nok
USAO YOTYM SUTULIDSP UrD UO1oadsul [ensia Yomb v *SUSAO UOTSIOA MU 3q [[IM Q0T ‘bT

*JayoRIq SIY) Yorle 0} [1dy 19)J8 paIn)oRINUEUI SUSAO ‘A[[RISUSD) "UIAO QDA UOISIOA IOP[O SUO YIIM UOISIIA

11 aaowar A[reIodwia) 03 aary Aew nOA PI[LISUL ISA0D YOBQ SATIRIOISP B SBY JIun JyId J| IoMIU 3UO 10 SUIA0 QDA UOISISA Iomau om] Jo Suryoels ayy 03 A1dde suononnsur asay |,

SUIA() UOI}IIAUO)) JIWUINg dZuey S 10 IIISBJA] pueien)
suonodnIsuy sunels



	
	

